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Actvity the number of decays per second) is messured in becs

rels. One B3 eausls one decay per second
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{a) 3bout 160 000 atoms  (b) about 400 000 stoms e} about 10 minutes  (d) about 30 000 atoms.
1900

(o) 448 B (b) 14 B3 e) about 106 days (2 halfives]

() 179289 e) 159 ays

Carbon-14 has s relstively short half-lfe. After s few half-ives (s few tens of thoussnd of yesrs], only tiny

mounts of C-14 would remain. I sddition, carbon-14 dsting s used to date materisls from sources that were
once living. Granite was never alive, 0 carbon-14 cannot be used to date 3 ranite rock.

B Do C Radioscriviy e

7. sbout 4000 years
8. about 11 000 years (11 460 years)
9. sbout 3% (2.125%)
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